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SECTION A : MATHEMATICAL REASONING

1. Simplify: 3. If one of the zeros of the cubic polynomial
sin 4 cos 4 x>+ ax*+ bx + ¢ is —1, then the product of the
secA+tan 4 —1 cosec A +cotd—1 other two zeros is
a) 2secA b 1 a) b—a—1 b) b+a+1
c) 0 d) 2cosec A Q) b—a+1 d) bra-1
2. In the given figure AB is a chord of the circle,
AOC is its diameter and ZACB = 60°. If AT
is the tangent to the circle at the point A, then 4. In two similar triangles PQR and PST,
ZBAT is equal to PS=xcm, SQ 3x +4), PT=(x+3)and TR
C = (3x + 19) cm. Which of the following is the
value of x?
60° P
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a) 2 b) 5
a) 40° b) 35° C) 4 d) -5
c) 45° d) 50°
SECTION B : EVERYDAY MATHS
5. Floor of a room is to be fitted with square 6. Two years ago a man’s age was three times the

marble tiles of the largest possible size. The size
of the room is 15 cm x 9 cm. How many such
square marble tiles are required?

a) 135 b) 15
c) 45 d) 25

square of his son’s age. In three years’ time, his
age will be four times his son’s age. Find the

present age of the son.
a) 8 years b) 6 years

c) 5years d) 4 years

SECTION C: LOGICAL REASONING

7.

A, B, C, D, E, F and G are members of a family
consisting of four adults and three children,
two of whom, F and G are girls. A and D are
brothers and A is a doctor. E is an Engineer
married to one of the brothers and has two
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children. B is married to D and G is their child.

Who is C?

a) A’sson b) G’s brother

c) E’s daughter d) F’s father




8. Inaque Rahul is fourth from the front. Seema b) 30

is ninth from the last, If Varun is ninth after ¢) 32
Rahul and just in the middle of Seema and
Rahul, How many persons are there in the que? d) 31
a) 34
SECTION D : BRAINBOX
9. In the given figure, (not drawn to scale) tangents 10. Find the mean, median and mode of the
PQ and PR are drawn to a circle such that following data respectively
ZRPQ =30° A cord RS is drawn parallel to the Class Frequency
tangent PQ. Find the ZRQS. 0-10
- 4
S R 10-20 5
20-30 7
30-40 10
40-50 12
50-60 8
30°
60-70
Q P
a) 15° b) 25° a) 37.2,38.5,40.4 b) 38.5,39,40.4
) 20° d) 30° c) 37.2,39,43.33 d) 38.5,36.42,43.33

1. (B) 2. (D) 3.(C) 4. (A) 5.(B) 6.(C) 7.(A) 8. (D) 9.(D)  10.(C)
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